N of associated (recoToSim) looper tracks vs normalized x*

[N of reco track vs normalized x? ] N of associated (recoToSim) tracks vs normalized x?
- P 2 g
5] 51 <
g g g
g 2 g
E e g
=3
>
k=]
i
i\
; s 2 g
N < ] IS
K 4 14 o4 .
- 0.8 B
0.4 . oo
0 2 4 6 8 10 12 14 16 18 20 0 i 0 2 4 6 8 10 12 14 16 18 20 ® 2 4 6 8 10 12 14 16 18 20
track x? track x? track x?
— oy Tig T
N of reco track vs.i — Egmﬂ—cBS%ZI%—%E?@—TE#SW&IEBE—}888S¥¥
2] 1%} 1%} (%]
x x X X
[=] Q [} Q
SR Kb Rt bR g g g
B ® 108 © °
107 s RNy E 10 :‘YE §
=
>
k=]
il 8 2 8
3 3 3 3
4 o o o
0 : "o,




	Contents
	Page 1


